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A EAA
Ha: ¥HSYAH(2AL)
Sel: o2y (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 10,778
03 RIAHA2Z 2R E > 21,555 21,555 0
OugEE MMsSE 22X E4(1Y) 21,555
Jl 10,777
Al 10,778
JHLZZXNES(SEHY) 110,000 42,000 68,000
J| 55,000
< 11,000
Al 44,000
101 @124l 110,000 42,000 68,000
J| 55,000
= 11,000
Al 44,000
03 RIHAZZ2HE =+ 110,000 42,000 68,000
OARLMEAMMAIY RIIHAZ2ZZ N EB4(2Y) 21,000
J| 10,500
< 2,100
Al 8,400
OogeHzaelAed RIIHL2ZN E=(2Y) 42,000
J| 21,000
< 4,200
Al 16,800
OZ¢ZE MY RIHL22R E4(1Y) 12,000
J| 6,000
< 1,200
Al 4,800
OZLEAAMNY 2IAHL2EZXN E5(2Y) 35,000
J| 17,500
< 3,500
Al 14,000
YEEXNEAAMY RIHA2Z2X B+(1F) 19,474 0 19,474
J| 5,504
< 1,102
Al 12,868
101 @124l 19,474 0 19,474
J| 5,504
< 1,102
Al 12,868
03 RIHAZ 2N E =+ 19,474 0 19,474
ORINHAZZNES(HLELXAAY) 19,474
J| 5,504
< 1,102
Al 12,868
JIJIZEN 22X (E LE22AX L SR Z AL 12,568 0 12,568
101 @124 dl 12,568 0 12,568
03 RIAHAZZ2THE 12,568 0 12,568
OScXNzd2IF 22X B 12,568




A EAA
HE: HYRIFH (2AL)
chel: ol gyl CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
oJl2z 44 6403 * 1H = 153 6,830
SRS E=, 6,830,000& * 1/6 » 23l 2,277
oFxsY 44 6403 * 18 = 31 1,384
cHIg=RIIHaY 44,6403 * 14 x 15 670
o XA 11,161,000 = 4/100 447
oz | 80,000& » 1¥ » 7& 560
o H A S| 400,000 * 14 = 13 400
Jl2 &bl 50,654 51,052 A 398
Jl23Hl 50,654 51,052 A 398
201 LBt b 41,638 41,956 ~318
01 AFR2 2t 2l Yl 41,638 41,956 N318
O AEd JI=28yl 250,000& » 12€ 3,000
OANEE2E RU(SAX S) 200,008 » 128 2,400
OHAEANLRLII A2EF 2
300,000& * 9CH * 23] 5,400
Oszt&E A ¢R & 30,0008 = 50 = 12& 1,800
Oga Y 50,0003 = 29 = 124 12,400
o= 50,000& * 274Y 1,350
OZ &l 7,000& * 269 * 7 * 12& 15,288
202 O B 3,736 3,816 A 80
01 2LHA Y] 2,080 2,160 A 80
Oblaz2 2 2HA Y 2,080
02 AN Y| 1,656 1,656 0
OMZBEAHREZ A BAHAIEZIA S HNH
138,000& = 1 * 128 1,656
203 ¥R =&Y 5,280 5,280 0
02 RN R = XY 1,080 1,080 0
O&JAINNMERF=AH| 40,0008 » 27¥ 1,080
04 2SI L RF=AH| 4,200 4,200 0
FANBI IR 350,000& = 12& 4,200
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